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T 97 4-By *Arew, #-Fyre 9o-Fy @ 5 cm @ 4 27 1 5100A Stweesa g e  3-fog (S
7 f&-forg wreifew =1 | Wa-fog 2ts 205 cm wea 7t *mw 10 o 24is 2 cm =, fo-fores wg=sy

VAT (@A T | [BUET'18-19]
0.02

HAATY: lﬂ?‘fﬁmﬂ,ﬂx=ﬁ=0.002m

Ax =2 [D =205 -5 = 200 cm = 2 m]

AD  5100x10710x2 -4
o = —= — . X .
a=_= T 255X 107" m (Ans.)

Tm-«7 e v By 7w 5ard g 0.18 mm | Bwew (9@ 90 cm A MW @A 4o Gl
TR AT (ST B A T, w37 Seper cor® @@ Tt ot (Wt 8.1 mm VRTY SRIES T, S

AT SHAAT (% T | [BUET'17-18]
FAY: ST R, Ax = 2 et §1%, d = 0.18 mm
' d

) _ fxd _ sxto-txtgxions = 018X 10~3m = 1.8 X 10~*m

~ nD 3%0.9 D=90cm=09m, n=3
=54 %X 10""m = 540 nm (Ans.) Ax=81mm=81x%x10"3m , A =?
@ oA et efs GFBRGE 6000 e wme | v fww fity 5896 A swxtwedw W v ¥ty
AT &) WA (@ (I I | [RUET'17-18]

g N = 6000 cm™! = 6 X 10°m™?
n=2: A= 5896A =5.896 x 10~"m

sin@

4 —— = nA = sin@ = nNA =8 =sin"1(2 X 6 X 10°> X 5.896 X 10~7) = 45.03°(Ans.)

B2 97 fSrizT 4-PT *RAr i 4.69 x 101 Hz F=TET @ WTE IRLET I (ORFT &F 2.4 X 107*m =01 1™
7.5 X 10 Hz F=TEA 917 WAl 2R 41 20 S (S g Raeq 39 37 [BUET'16-17]

W:WWWM&QAFE
%WWWﬂ,dhz%
C
[ 14
:_;=;T_; dh:i_:xdr=r7_?xdr :—;xdr=4;q:1';“ X24x107*m=15x%x10"*m

o (BT 2ATHA AT = d,. —dp, = 9% 1075 m
435 Ff e e wiEfee gt f&-va Ak b @ g gm gife smie crt sinear T/ 1 i
forma T 5 x 1072 m AT TW OIEE (Gl FALITHa 7999 T 3 x 1075 m. I o7 76 1@ yag 107* m

2 O I795© WITEHE S9% (A WA 9 [BUET’14-15]
ALAD

=5 =3
TAMYI: BT LA X TA, x =~ = Ax = a =200 2 BXI0 X0 6 x 10~"m (Ans. )

AD 5x10~%

% LED Tre fAys wital a3t woés cafbe g9 Toa aiweind wisfeos g7 v 99qeq caifbe @ 25.4 mm 20¥
ANGEYIT 1.26 x 10* B @ B otz | @2g 9F 200 39 O (ol ey vaw (second-order maxima) TRoH
A7 [N WTEAR SIF 79T, A = 450 X 107 m] [BUET’14-15)

-3
T 2ifed @ oy = 221 5 = 2.01587 X 10°m

1.26%10%
Now, dsin (o) = nA = 2.01587 x 107°® x sin(a) =2 x 450 x 107? . a = 26.51° (Ans.)
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UYL UL <9 19-109 9% OUVUA ST (MY HITAT 9219 F4re (Uldlid 59419 =¥ 2.0 mm | 9% JA9w

AAFIELCE 1.33 afeTrres 3t Saa Sl 50 SIEE (ORiE G4 T 2097 |IBUET’13-14|
'-'1111“1‘171':ﬁ';r’=D—;‘h .'.z}.ynr:?i.ncl
a 1

LAY W = Ay, xp, C2x1=1.33xAy, Ay, =|1.504 mm
& @7 fa-foxr 8w 5877 3 Sameandia wiieet 5<=iead & 92 Af% o7l AW | 5461 4 wwK RO ST wat

T© TATE A (A A2 [BUET’06-07]
nA, 5877x92
ANYE: A, =N A, =N, =—L= =99
R e 5461
@ [IESI AT 70 TS WA TEW AR SIATS 25:4, Ifevia FAmd vav g 8 W9 R
ARTFTT WS foefy o7 | |IBUET’05-06]
e Toca? - :311:35 B2
I, a, 4 a, 2
2
D0t T L _@48) 49 4.9
a—a, 3 io  (3,-2))" 9
0.2 . far. Fdi= faf+2 5t B zre 50 o1, fr. warg w—fEge «wia Sow i st R 2o | =i 55 S
M9 TSt Ay 1.42 . i, 20 wivens wa onedy foefr o1 | [CUET’05-06]
W:le—n-:}kzﬁ a=2mm=2x 10" m
a D D=50cm=0.5m
_ 2x107%x1.42x107 =568 x 107 m (Ans.) x—-_-l.42 mm= 1,42 x 107 m
0.5 A=7?
'd' ere ¥R 0T st siwer aet St w4 2o 1| S870A S e 2o It T oUW @Nd WS
@ 30° e 'd' v 7a? IBUTex’05-06)

. N -10 _ _ ~10
W;Nl=d51n9:>d=__}”=lx5370“10 =1.174x10"5m N=1,A=5870x10 " m
sin© sin 30° 0 = 30°
qiG IS FfETCE TS QTSI AN T @ GG AT o 29wy WA qrw A 60° @

A | (T WAAICE WAF @ TS 9F &S G AT 9T Q8T WET Sl TRss wEE aosd

77 IBUET’04-05]
Y 1,=[—ﬂ, I, =1 cos’0 =I_'-'J;w;(m::.s.suzrrﬂ)2 _Lh
2 2 8
i—1=—;~ w2fie FYAEE WTER Slgel THafEs Wirag é @ |
0

IBUET 03-04]

T A i, asin® = ni G, a=0.2mm =2 x 10™*m
= 2x10 " mxsin [tan"'_l_]:lxﬂ =
400 5
=7 9=1_ﬂ[] I——, — 4
= A=4.99998x10""'m (Ans.) 2000




14, (a) ST (@7 |IKUL'1703-04]

(b) c fRfwaret sz o7y 1.75 x 10 4 cm™! o Bt 3 = siean forefa <21 e «f% = 3.0 x 1010
cny/sec |
TAKE: (a) EIF 25 of o pARI Tacora JAAE |
— Vv 3x10"
b)v=fA =f=L= =1.71x10""Hz
A 1.75%10™

15. 52004 w37 tandia g e @3 o7 b 2w 3w «e fi-foxr @ weifes o 1 200cm e | 8o 107
+f09 g 4cm | foras ap foefa a7 | |[KUET’03-04]
Frg: We know, Ax — niD o nAD _ 10x5200%10 "' <2 ~26x10*m (Ans.)

a Ax 0.04

16. a3 73 20 8% o4 sidfaoga @ifas s<egm 0.20°, 76 yiva e vag ffy 9 | 9o W) o9 ad
= 5700A [BUET’02-03]
ARG ST S, THSE AT & | S {=GewE &=, n=0

-10

dsmd = (“ *%}"*:” d= 2;:19 ) 25:2?;(;20“ y 16 107 m(A)

MCQ

17. a9 Frzoe @4 97 oraa ved Qqed «[ 9% 589 6A°TaA CAtHa WITAT I Ta1 Z0eT | AT ST Sl WATE
(@i F© 32 foraw 99 0,18mm | [KUET'18-19]
(a) 0.17° (b) 11'16" (c) 0.15° (d) 13'20" (e) 9'17"
Farge: (b); asin® = nA ~ 8 = 11'16"

18, 93 =70 W4TTs dfenars 1.43; SRS We 6 @i Memfog 6o weife e afewfre st 7= Fraffs 771 0
(PITHT AT TE? ISUST'18-19]
(a) 57° (b) 58° (c) 53° (d) 55° (e) 56°

Freie: (d); Brewster 93 3@ W09, (S0 ¥6R TR-2FEHE *WCdd o7 ffMe (ive @b spefds wier sivifes 2=,

witeloa fog W efonfae g7 w3 fFg st afors 2o | afowfars st o ST Yz afeye g s TRfEe =z
a3z & fAfA% @1 Brewster Angle (0g) 3t | ©R-20E0 *MidBa ST YT ANATE A1=ifFe 2AfSHANE 11 20 |
tanBg = p ~ Bg = tan"1(1.43) = 55.03°

19.  6000A a2 rdia wfb WIels A0 W AUy Ax = 3 X 10~ m Za oiwaa weiteirdss § za-  |[SUST'18-19)
(a) 20 (b) 1t/2 (c) T (d) 31/2 (e) /3
TR: (): 6 = 2max _ znxaxw_-"" —

A 6000x10-10

20. @@ forea 4% 4 X 10~ cm 1 5896A v tndy ff#2 Wit ity Wt witAifes Tt @RIT vAE Son A
AYALHT WINGTEAE F47e| (i vap 67 o7 IKUET'17-18]
(a) 17.26° _;E'b_) 18° (c) 16.95° (d) 8.44° (e) 10°

_AD AD -

A (¢); ﬂ T sin@ = % = % = E'iiﬁ;ﬂ : 0 =8.48° .. 20 = 16.95°

21, W a9 fafbg 1A S S 6 x 10MHz 1+l ufb celaa T2t vag 0.75mm | *M1f6 1.55m Wia Ut
o afod T49e 7ag F© mm? [SUST'16-17]
(a) 0.55 (b) 0.89 (c) 0.95 (d) 1.03 (e) 1.51

. B
110 155

E:'-c[] L L
T (d); x = 2 ; a=L- =800 2 o3mpy

v n75vin—3
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31.

TR A7 T9-T650 2T ST TE 29 6.2 X 10" Hz | PGSl i6 (CTHR @09a TSl ¥ag 0.72 mm | 2415 T%

1.6m V= AT S 53 qfoa 108! gag 672 IKUET'16-17]
(a) 0.49 mm (b) 0.514 mm (c) 0.538 mm (d) 0.62 mm (e) 0.54 mm

g e JHEIDT - __AD _ AD _ 484x1077x16
TR (), A=1= =53 =484x107"m, x="-=a=T=——"—"2=0538mm
fIT6a @19 SO YRR TS i I F4 TEF? IBUTex'16-17]
(a) TATSH (b) WTevId (c) i ETFe (d) Frorefos f@Fal

A (d); FLOrSfGe i s wax «f fara <grn wat At )
@i Ao 4w 400nm ST% TG TR 4T %@ 60 #Af¥ o741 A1 600 nm SIF UL WTAR GF2 =17

CFE A0 HWJ TS TI? [BUTex'15-16]
(a) 40 (b) 90 (c) 60 (d) 50

TAYA: (a); noc 5 w2t = T2, = 2 = SR - 49

caifb: @7 o7 fATT 50004 SIHCG STl (T A AT 6 OF BANa T ST (FE ATy F97 [Ao S
cifbraa &ifs iR 6000 @3 =g [KUET*15-16]
(a) 17.46° (b) 64.16° (c) 46.7° (d) 51° (e) 63°58'

A (¢); dsin® = nA = %sinﬂ = nA = sin® = NnA = 8 = sin"!(Nn})

%08 =sin"I(Nx1x2A)=17.458°

8; =sin"}(Nx 3 x 1) = 64,158° . *ds7 =0, — 0, = 46.7°

M 97 oA A TER FE 29 6 x 101 Hz ) «irfaSt 4fb com @rwa T<ast ayg 0.7mm 1 AW I 1.4m

0 4TS S 09 {64 qfod T4ias) ag 967? [CUET’15-16)
(a) 0.95mm (b) 0.91mm (c) 1.033mm (d) Imm

cD
AYY: (d};x=?=—:-=>a=1mm
e @Mt cofieniaide <41 g 17 [BUTex’14-15]
(a) cfSe o (b) @%-1 (c) AT *F STX  (d) WACEAIKS A

ARG (C); *oqH TGLWH] SIF — TS CAEIAIES 81 T 7|

@ o caifbe 97 oS GBIt 5000 @ TATE | W3 oo Mo 58904 wa T |ita! et oty varwd
Gl TG (i Fo? [KUET?14-15]
(a) 36.13° (b) 36° (c) 35°22° (d) 36°5' (e) 35.98°

AMYA: (d); sind,, = Nnk =sinf, = 5000 x 10% x 2 x 5890 x 10~'° = 589 =0, = 36°5'

TR 97 [%-f57 =@rem, o 26w wsf Ay wrde ik fa-foa (At Mia qap fed e cormm Wi Ha4 Z1-

(a) 92 (b) w4 (c) faae (d) Braedt [BUET’13-14]

TNHIS: (d), ﬂ}rg:D Ay' — Di{!a' :l ﬁy:-‘-’l-ﬁyl.
a Ay, D,/a, 4

4000A S TATGTA 9315 QP2 0T N SA0HT 04 A< “Ardfay 2 x 10 ' m 20, Sitaa 0y 7=t =147 34-

(a)m (b) 2= (¢) 3n/2 (d) n/2
T (2); 5= - 2{’;_,, x2x1077 = [BUET’13-14]

b4
3R @7 fa-foq #drem Ba gt TSt g9y 1.9 mm 1 @ 7 @@ Im Ja0y R I 0.31 mm A0Sl
(51 | AT S (N (3T 9 | IKUET’11-12,10-11,CUET’11-12,BUTex’13-14]
(a) 5890A (b) 5900A (c) 5900x10 °*m (d) 2m (e) 5800A

-3 -3

T4 (a), é.n:y?— S k= a0 = T B8l 'm = 5890A

a D ]
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METEIL WA @t fodfrag 5@ mfb? [Ans: B] [BUTex’13-14]

] 1

(a) c=/H,E, (b) c=— (c) c= (d) c=H,E,

'\/,J’I:IEU HﬂBﬂ
2 97 A3 G0 7w, 720 5F A IRt 7= - [BUET?12-13]
(a) Slgs! TG (b) @0 o T=iwaa oo War Wfs wawr e T
(€) *s qered *iday fEq g (d) 93fS 57 E ovta &0 93 997 B ovd &
Tutgle: (¢); To create a path difference
SIa (1 (AMET 0T (AT (T AT GHi S a7 20 (Y [BUET’12-13]
(a) efsTeeT (b) afesae (c) ifopra (d) Taga

FqIY|: (d) ; Polarisation is a unique property of transverse wave.
@ Goqes cafby @7 fooq frr 5x 10~ cm w9 0GR W cete RORT SRt G WeRE (et 30° |

g ity wa afe CIFBfBIe sverE @ wie o ffr o9 ICUET’12-13]
(a) 6000 (b) 5000 (c) 4000 (d) 2500 (e) 1000
TYE: (b); sinB=Nnkh = N = 5 5?3?0_], Line/m = 500000 Line/m =5000 Line/cm

XX
@ Soes fberw afe EBitne 6000 @ wcate | 7 w7 W 58964 w2 ticda wteT crece ey
FACIE T A9 (9 T2 |[KUET’12-13]
(a) 46° (b) 16.2° (c) 45.99° (d) 45.03° (e) 44.01°

T (d) ; | ma @9 Seg = 6000x 100

G =1.667x10 °m™

6000100
A=5896x10""m:;: 0="?
2x5896x107"°

9T, dsinB=21 =sinb = — = 0=45.03°
1.667 %10
eI e WA Samas 5.89x10 " m | G $1t64 Aforars 1.52 SN® Rl Samnd o7
(a) 3.875x10™° m (b) 38.75x107" m (c) 38.75x10°* m
(d) 35.87x107" m (e) 3.875x107" m [RUET’12-13]
<
T () s A, == =22X107 3895107 m
Lt 1.52
67 JoTF ATSBITAT =6 Zren— [SUST’12-13]
_ n 2n
(a) x = 3 (b) x = (2“‘*‘1)% (c)x= 2:1(%) (d) x S
HAY: () ; o1+ JeT JfSbiad &=, x = 211[%]; QAT NOBITAT &, x = (2n+l)~;;1
wieers T 4% wrat e emibee a4 3 [Ans: e] [SUST’12-13]
(a) Wiebd (b) FWIgET (c) WS (d) &7 gerg (&) ©ftr furar
aFf6 e canfbe-aq afs ffEfies 600 wist Witz | @7 Boiw Gl witar (A = 5896 A) weifew zrer faery
GG GINGTEF Q] FATS (ST T F© A7 SIRF1% 2032 [Ans: d] [SUST 12-13]

(a) sin™'(0.07) (b) sin”'(0.1) (c) sin'(0.3) (d) sin™'(0.7) (e) sin'(0.9)
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48.

19,

I WO 4] 9199 71~y IV 090Ad OEPod ILE ALEID 8 A9HE WA O g9T Z4- IBUET 11-12]
(a) 51, 31 (b) 91, I (c) 91, 31 (d) 51, 1

AA4R: (b); Sl e i Awagsiifes |

. aois TarHd e A = woEbe @ 2A

;. AT @ = A +2A =3A ¢ 7dfom @R =2A-A=A

;AT SFer 371 3, 91 ¢ e et 121 @1, 1

7 Pieee aaad war a3 famre wefes 7 fva @ 9was 9t w5 77 [Ans: d] [BUET’11-12]

(a) @TAg W1 GFZ (b) AT AMCAE-FAP GF3
() a7 f{@a 2 9FT T (d) 9@ 5= T SeAfaSTE
*F-SAF “N6d (I (Sre AfETiS et o5a w2 [Ans: b] [BUET’11-12]
(a) &fewad (b) FaEEa (c) J*Ea (d) efsTaa
5600A w7 Wrda @3 3 7R 73 Preere T Im WA SRIFS wE B ifer e Y 0w | oo
720 T #if%9 79 0.2 mm 1 530 TS S Negwet A faew v | |CUET’11-12]
(a) 2.8mm (b) 1.21x107" m  (c) 1.4 mm (d) None of these
-7

AYF: (a) ; X = i = 55%10 _}:l =2.8x107"m=2.8mm

a 0.2x10™
Fraed elfewers sa «afo wrere 3 60° @rd Wieifes 2l qde s Tar 2fewhd @i 12° Araw o |
AT NS (I 8 |ICUET’11-12]
(a) 13.5° (b) 76.5° (c) 4.16° (d) None of these

sy (b); «fq, area SR (e 0

 tan@ < S _ sin 60 a 813]1"[5“]60 J=76.5°

sinr  sinl2° sml12°
fAT6a (@b (IE@Es F4 I w2 [Ans: d] [BUTex’11-12]
(a) @Hd (b) wiGs 7% (¢) waremfzs (d) IS == %
AAEAE % T4 QF0 N4F 7 o0y Woifos e IoaeT g0 | wa% i 92 fSmd @7 T G S9qed
FATF (AT TLA? [BUET’10-11]
(a) T OIF (N €L T fom (b) (=% % <7 Wae A oy
(¢) (=% Sa% ¥ Wae 2=i3 fom (d) 7T T Ay T2 23 oy
FAYE: (a); QT 599 TS @ @A TH/GA GI9 ="}an
S 4 TS IE TE, a4 T (R Z(F, AqEA o9 @ 09 |
| 992 41 AR 90 ©a% Fobr@ 0Ta IR | SFITIAT GTSbH Coaaa AR TH- IBUET’10-11]
(a) 51 (b) 71 (c) 91 (d) 41-
AAYI: () ;. & « (fee)® . sawmars @ sam@ww | ¢ 2 gss

c. ewgES Afesa R (142) =3 99 . arer 9 gaa
430 TAEFE el 9T forsa wemes Adqrw @ 6000A S9% ik wa i+ wEr 9@z w4 2= 1 By

12x 107 cm =& @9y vaw T oliw wdEifae e @a oa (CUET’10-11]
(a) 30° (b) 60° (c) E5° (d) None of these
FIE: (c): dsinB=n% = 12x107 %107 xsin® =1%6000x10""" = 5in{%‘::%
T y0 7 Jﬂﬂ o
S 0=30" .. wdrdfis f@m = —— =15

)



